Scanstrut Self-Levelling Pole Mount Installation Instructions (LMP-1/LMP-2)

Tools Required

N L7 -
2 8 9 10 15
(I = |l — ||
— —
M6 x 16mm M6 Nylon — M6 x 20mm —
x4 washer x4 — ré’ xa " —
— > ——
— S M6 x 12 = 8mm Flat Head
3 M8 S/S washer E—— x X . mm e — mmrlattiea
x3 — = ) ==
2 6mm S/S Washer = C:’:g
[ x4 E .
© M6 Nut Cover g — — P05|dr(|jv .No. 3
£ x12 —— Screwdriver
£ — ——
S N M8Nyloc F—— M6 Nylon
é M6 Nyl .‘. x3 — washer x4 60066
ylon — .
washer x2 M6 Tgloc — 6mm Spring Washer
— 4
X M6 S/S washer 13mm x 2
~—<7 x3
10mmx 1
ﬂ M6 x 20mm x6 ) l&" v
|| —
T S/5 Nyl SR
M6 S/S Nyloc Nut M6 Nyloc
M6 Nylon M6 Nyloc M6 Nut Cover x4 a ©6.5,38.5mm
washer x3 X6 X6
11
1.6 x 25mm Threadlock
split pin M8 x 36mm M8 Castlenut M8 S/Swasher M8x 12mm M8 Thumbscrew x1
x1 x1 x1 x2 x2 x2

SCANSTRUT

INSTALLATION SOLUTIONS FOR MARINE ELECTRONICS



27-01-16 Issue 4




Offset mounting holes for Raymarine domes excluding
Quantum which requires the plate to be located centrally.

10

-




14

ISEAINSHIRUYIS

®

4x 6.5mm

=
=

15

=
/ \‘\ /
\ . \
\ .
2 o 7
/ - 7
¢ o ¢

imafun v
|

Scanstrut Ltd. 1 Malt Mill, Totnes, Devon, UK TQ9 5NH Tel: +44(0)1803 863800 Fax: +44(0)1803 862223
E-mail: mail@scanstrut.com Website: www.scanstrut.com





